
§·¤æ§ü / Unit-I

1. (a) çÙ`ÙçÜç¹Ì â×è·¤ÚU‡æ ·¤æð ÌéÜÙæˆ×·¤ çßçÏ âð
ãUÜ ·¤èçÁ° Ñ

15x + 3y = 39

12x + 9y = 51
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ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð ÂýàÙæð´ ·ð¤ ¥¢·¤ ©UÙ·ð¤
ÎæçãUÙè ¥æðÚU ¥¢ç·¤Ì ãñ´UÐ

Note : Answer all questions. The figures in the right-
hand margin indicate marks.
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Solve the following equation by
comparison method :

15x + 3y = 39
12x + 9y = 51

(b) çÂÌæ ·¤è ¥æØê ¥ÂÙð Âé˜æ ·¤è ¿æÚU »éÙè ãñUÐ }
ßáü ÂãUÜð çÂÌæ ·¤è ¥æØé ¥ÂÙð Âé˜æ ·¤è ¥æØé
·ð¤ v{ »éÙè ÍèÐ ©UÙ·¤è ßÌü×æÙ ¥æØé ™ææÌ
·¤èçÁ°Ð

A father’s age is four times that of his
son. 8 years ago the father’s age was
sixteen times that of his son’s age. Find
their present ages.

¥Íßæ / OR

°·¤ Èñ¤@ÅþUè ×ð´ ÙÅU ¥æñÚU ÕæðËÅU ·¤æ ©UˆÂæÎÙ ãUæðÌæ ãñUÐ
×àæèÙ-A ÂÚU v ƒæ‡ÅUæ ÌÍæ ×àæèÙ-B ÂÚU x ƒæ‡ÅUð
·¤æØü ·¤ÚÙð âð °·¤ Âñ·ð¤ÅU ÙÅU ÌñØæÚU ãUæðÌð ãñ´U, ÌÍæ
x ƒæ‡ÅðU ×àæèÙ-A ÂÚU °ß¢ v ƒæ‡ÅUæ ×àæèÙ-B ÂÚU
·¤æØü ·¤ÚUÙð âð v Âñ·ð¤ÅU ÕæðËÅU ÌñØæÚU ãUôÌæ ãñUÐ ÙÅU
·ð¤ Âñ·ð¤ÅU ÂÚU G w.z® ÌÍæ ÕæðËÅU ·ð¤ Âñ·ð¤ÅU ÂÚU G v
ÜæÖ ãUæðÌæ ãñUÐ ØçÎ ×àæèÙð´ vw ƒæ‡ÅðU ÂýçÌçÎÙ ·¤æØü
·¤Úð´U Ìæð ÂýˆØð·¤ Âý·¤æÚU ·ð¤ ç·¤ÌÙð Âñ·ð¤ÅUæð´ ·¤æ ©UˆÂæÎÙ
ãUæð ç·¤ Üæ» ¥çÏ·¤Ì× ÚUãðU?

( 2 )
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( 3 )

149_JDB_g_(8) (Turn Over)

In a factory nuts and bolts are manufactured.
After working one hour on machine-A and
three hours on machine-B, one packet of nuts
is prepared. After working 3 hours on
machine-A and one hour on machine-B, a
packet of bolts is prepared. The profit on a
packet of nuts is G 2.50 and on a packet of
bolt is G 1. How many packets must be
produced to get the maximum profit if
machines work for 12 hours per day ?

§·¤æ§ü / Unit-II

2. (a) ×æÙ ÕÌæ§° Ñ

3 4

2
176 2161

(212)


Find the value of :

3 4

2
176 2161

(212)


(b) Üƒæé»‡æ·¤ ·¤è âãUæØÌæ âð x ·¤æ ×æÙ ÕÌæ§° Ñ

1563 (1 + x)8 = 1624
Find the value of x with the help of
logarithm where :

1563 (1 + x)8 = 1624

¥Íßæ / OR
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( 4 )

149_JDB_g_(8) (Continued)

ØçÎ âæÚUç‡æ·¤ 
3

9
1

y
x



 ÌÍæ âæÚUç‡æ·¤

8
2 1
x y




 ãUæð, Ìæð x ¥æñÚU y ·¤æ ×æÙ ™ææÌ ·¤èçÁ°Ð

If determinant 
3

9
1

y
x


  and determinant

8
2 1
x y




, then find the values of x and y.

§·¤æ§ü / Unit-III

3. °·¤ ÃØç@Ì ¥ÂÙð Îæð Âé˜æô´ ·ð¤ Õè¿, Áæð ·ý¤×àæÑ v{
¥æñÚU v} ßáü ·ð¤ ãñ´U, G x,~®x §â Âý·¤æÚU Õæ¢ÅUÙæ
¿æãUÌæ ãñU ç·¤ y' ¿·ý¤ßëçh µØæÁ ·¤è ÎÚU ÂÚU
çßçÙØæðçÁÌ ©UÙ ÚUæçàæØæð´ âð ©UÙ ÎæðÙæð´ ·¤æð ©Uâ â×Ø,
ÁÕ ßð wv ßáü ·¤è ©U×ý ÂýæŒÌ ·¤Úð´U, â×æÙ ÚUæçàæ
ç×ÜðÐ ©Uâð ÏÙ ·ñ¤âð Õæ¢ÅUÙæ ¿æçãU°Ð

A man desires to distribute G 3,903 amongst
his two sons who are respectively 16 and 18
years old in such a way that the sums
invested @ 4% p.a. compound interest will
give the same amount to both of them, when
they attain the age of 21. How should he
divide the sum ?

¥Íßæ / OR
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°·¤ È¤×ü Ùð v ÁêÙ, v~~~ ·¤æð G v,®®,®®® ·¤æ
â`Âçîæ ÌèÙ ßáü ·ð¤ Â^ïðU ÂÚU çÜØæÐ NUæâ ·¤æðá ·¤æ
çÙ×æü‡æ ·¤ÚU·ð¤ §â·ð¤ ãUSÌæ‹ÌÚU‡æ ·¤æ çÙà¿Ø ç·¤Øæ
»ØæÐ ÚUæçàæ ·ð¤ çßçÙØæð» ÂÚU z' ßæçáü·¤ µØæÁ
ç×ÜÌæ ãñUÐ ÂýçÌ ßáü ç·¤Øð ÁæÙð ßæÜð çßçÙØæð» ·¤è
ÚUæçàæ ™ææÌ ·¤èçÁ°Ð

A firm purchased a leasehold property on
1 June, 1991 at G 1,00,000 and decided to
replace it by creating a depreciation fund. The
rate of interest if 5% per annum. Calculate
the annual amount to be invested.

§·¤æ§ü / Unit-IV

4. (a) ç·¤âè ÂÚUèÿææ ×ð´ {®' çßlæÍèü ÕãUè-¹æÌæ ×ð´
¥æñÚU z®' »ç‡æÌ ×ð´ ©Uîæè‡æü ãéU° ÌÍæ wz'
ÎæðÙæð´ ÂÚUèÿææ¥æð´ ×ð´ ¥ÙéÌè‡æü ãéU°Ð ØçÎ vy®
çßlæÍèü ÎæðÙæð´ ÂÚUèÿææ¥æð́ ×ð´ ©Uîæè‡æü ãéU° Ìæð ÂÚUèÿææ
×ð´ ÕñÆUÙð ßæÜð ·é¤Ü çßlæçÍüØæð´ ·¤è â¢BØæ ™ææÌ
·¤èçÁ°Ð

In an examination 60% students passed
in book-keeping and 50% in Mathematics
and 25% failed in both the examinations.
If 140 students passed in both the
examinations, then find the total number
of students appeared in the examination.

( 5 )
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(b) A Ùð G vwz âð °·¤ Îé·¤æÙ ÂýæÚU`Ö ·¤èÐ Îæð
×æãU ÕæÎ B ©Uâ×ð´ âæÿæðÎæÚU ãUæð »ØæÐ °·¤ ßáü
ÕæÎ xÑz ·ð¤ ¥ÙéÂæÌ ×ð´ ÜæÖ ·¤æ çßÌÚU‡æ
ç·¤Øæ »ØæÐ B Ùð ç·¤ÌÙè ÏÙÚUæçàæ Ü»æØè Íè?

A started a shop with G 125. After two
months B also become partner. After one
year the profit was distributed in the ratio
3:5. Find how much money was invested
by B ?

¥Íßæ / OR

(a) ~, vv, vz ÌÍæ v~ ÂýˆØð·¤ ×ð´ âð @Øæ ƒæÅUæØæ Áæ°
çÁââð ·¤è ¥‹ÌÚU â×æÙéÂæÌè ãUæð Áæ°?

What number must be substracted from
each of 9, 11, 15 and 19 so that the
difference will be proportional ?

(b) w® çÜÅUÚU ç×Ÿæ‡æ ×ð´ ÎêÏ ¥æñÚU ÂæÙè ·¤æ ¥ÙéÂæÌ
yÑv ãñUÐ §â ç×Ÿæ‡æ ×ð´ âð ç·¤ÌÙð çÜÅUÚU ç×Ÿæ‡æ
çÙ·¤æÜ ·¤ÚU ©UÌÙæ ãUè ÂæÙè ç×Üæ çÎØæ ÁæØð ç·¤
ç×Ÿæ‡æ ×ð´ ÎêÏ ¥æñÚU ÂæÙè ·¤æ ¥ÙéÂæÌ xÑw ãUæð
Áæ°?

A mixture of 20 litre contains milk and
water in the ratio of 4:1. How many litres
of the mixture be taken out and the same
quantity of water added to it so that the
ratio of milk and water becomes 3:2 ?

( 6 )
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§·¤æ§ü / Unit-V

5. (a) °·¤ ÃØæÂæÚUè G ~~® ÂýˆØð·¤ ·¤è ÎÚU âð Îæð

ƒææðÇ¸ðU Õð¿Ìæ ãñUÐ §â ÃØßãUæÚU ×ð´ ÂãUÜð ƒææðÇ¸ðU

ÂÚU v®' ÜæÖ ·¤×æÌæ ãñU ¥æñÚU ÎêâÚðU ƒææðÇ¸ðU

ÂÚU v®' ãUæçÙ ©UÆUæÌæ ãñUÐ ·é¤Ü ÜæÖ Øæ

ãUæçÙ ·¤æ ÂýçÌàæÌ ™ææÌ ·¤èçÁ°Ð

A trader sells two horses for G 990
each. On his deal he gains 10% on the
first horse and losses 10% on the other.
Find the percent of total gain or loss.

(b) °·¤ Îé·¤æÙÎæÚU ¥àæéh ÌÚUæÁê ·¤æ ÂýØæð» ·¤ÚU·ð¤

v®' ¹ÚUèÎÙð ×ð´ ¥æñÚU v®' â×æÙ Õð¿Ùð ×ð´

Ïô¹æ ÎðÌæ ãñUÐ ÕÌæ§° §â Âý·¤æÚU ·¤è

¿æÜæ·¤è âð ©Uâ·¤æð ¥ÂÙè Üæ»Ì ÂÚU ç·¤ÌÙð

ÂýçÌàæÌ (¥Ùéç¿Ì) ÜæÖ ãUæðÌæ ãñU?

A dealer uses a incorrect balance of
weight and cheats in buying and selling
each by 10%. What percent profit does
he earn by such cheating ?

¥Íßæ / OR

( 7 )
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çÙ`ÙçÜç¹Ì ÂçÚUßãUÙ â×SØæ ·¤è ßæðç»Ü âç‹Ù·¤ÅUÙ
çßçÏ âð ãUÜ ·¤èçÁ°UÑ

»ýæãU·¤ ·¤æð

C1 C2 C3 ©UÂÜµÏ

Îé·¤æÙ âð S1 2 7 5 5

S2 3 3 8 8

S3 5 4 7 7

S4 1 6 2 14

¥æßàØ·¤Ìæ 7 9 18 34

Solve the following transportation problem by
Vogel’s approximation method :

To customers

C1 C2 C3 Available

From shop S1 2 7 5 5

S2 3 3 8 8

S3 5 4 7 7

S4 1 6 2 14

Requirement 7 9 18 34

———

( 8 )
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